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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this quest.ion paper.
2. Attempt all questions.

3. All questions carry equal marks.

4. Use of Simple Calculator and is allowed.

5. Answers may be written either in English or Hindi but the same medium should be followed

throughout the paper.

Note: Financial Tables will be provided to you in the Examination Hall.
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1. (a) Differentiate between systematic and unsystematic risk. ] . (8)

(b) What is the difference between short-term financing and long-term financing? Explain

any two long term sources of finance stating their merits and demerits. (10)
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(a) A person is likely to get rupees 10000 every year for the next 10 years. Find its present
value, if the rate of interest is 12%. Would it make any difference if the amount 1s

received at the beginning of the year or at the end of the year? q (8)

(b) Why is the consideration of time important in financial decision making? How can time

be adjusted? (10)
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XYZ limited has the following profit and loss account for the year ended 31st March 2023
and the Balance Sheet as on that date

Profit and Loss Account (for the year ended 31st March 2023)

Particulars Amount Particulars Amount
(Rs in lakhs) (Rs in lakhs)
opening stock ) Sales: credit 12.00
Add: manufacturing cost 10.75 Sales: cash 3.00
Less: closing stock (1.50)
Cost of goods sold 11.00
Gross Profit 4.00
15.00 - 15.00
Administrative expenses 0.35 Gross Profit 4.00
Selling expenses s Royalty Income (.09
Depreciation 0.50
Interest 0.47
Income tax : 1.26
Net Profit 1.26

4.09 4.09

P.T.O.
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Balance sheet as on 31st March 2023

Liabilities Amount Assets Amount
(Rs in lakhs) (Rs in lakhs)
Equity shares of Rs 10 3.50 Plant and machinery 10.00
" 10% Preference Silares 2.06 Less: depreciation 2.50
Reserves and Surplus 2.00 Net Plant and Machinery 950
Long term loan 12% 1.00 Goodwill 1.40
Debentures 14% 2.50 Stock 1.50
Creditors 0.60 Debtors 1.00
Bills payable 0.20 Prepaid expenses 0.25
Accrued expenses 0.20 Marketable Securities 095
Provision for tax 0.65 Cash 0.25
12.65 12.65

Calculate the following ratios:

(i) Current ratio,

(ii) Quick ratio,

(iii) Debt-equity ratio,
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(iv) Inventory turnover ratio,

(v) Debtor’s turnover ratio,

(vi) Average collection period,

(vii) Return on capital employed,

(viii) Return on equity,

(ix) Earnings per share, and

(%) Price—earnings ratio. | (18)
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XyYZ Ltd is considering investing in a project that cost Rs. 5,00,000. The estimated salvage
value is Zero. Tax rate is 55%, Method of depreciation is g.L.M. The project’s cash flow

before tax is as follows:

Year Cash Flow before depreciation and tax (Rs)
1 1,00,000
2 1,10,000
3 ‘1,40,000
4 1,50,000
5 2,50,000 J
Calculate

' (1) Payback Period
(2) Net Present Value at 10%
(3) Internal Rate of Return (18)
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1 1,00,000

2 ~1,10,000

3 1,40,000 5,
4 1,50,000

5 | 2,50,000
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3. Compute the weighted average cost of capital of a company using book value weights and

market value weights. Company’s present capital structure is:

Rs.
Equity Share (Rs. 10 per share) 10,00,000
12% Preference Share (Rs. 100 per share) 4,00,00.0
8% Debentures_ (Rs. 100 per debenture) 7,00,000
Total 21,00,000

P.T.0.
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Current price of equity shares is Rs. 15 each. Dividend of Rs.3 per share was paid last
year. Dividends are expected to rise at 10 % p.a. The preférence shares and debentures
are being traded at 80% and 90%. Tax rate applicable to company is 50%. (18)
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(a) Differentiate between operating leverage and financial leverage. 8)

(b) The Operating Income Statement of a company is as follows:
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Particulars Amount (Rs;)
Sales 3,00,000
Less: Variable Cost @ 40% 1,20,000
Coﬂtribution Margin 1,80,000
Less: Fixed Cost 90,000

EBIT 90,000
Less: Interest 5,000

EBT 85,000

(i) Find Operating, Financial and Combined leverage.

(if) By what percentage will EBIT increase if there is 10%

(%) den dRw ok weEE SR @ 9 sw S
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increase in sales?

Taazar fEr (7)
EEd] . 3,00,000
e uRadNg AR (@ 40% 1,20,000
AR A 1,80,000

(10)
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4. (a) Explain the terms bonus shares and share splits.

(b) The data on earnings, div

What is their rationale? (8)

idends, and market price for two companies are as follows:

X limited Y Limited
Year | EPS DPS. Average market EPS DPS Average market
(Rs) (Rs) - price (Rs) . (Rs) (Rs) price (Rs)
1 8.0 3.2 24.0 8.0 3.6 27.0
2 3.0 1.2 17.0 3.0 3.6 25.0
3 10.0 | 4.0 279 10.0 3.6 25.0
4 8.0 3.2 23.0 8.0 3.6 25.0
5 16.0 | 6.4 29.0 16.0 - 3.6 30.0
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Calculate

(1) Pay-out ratio

(i1) Dividend yield and

(iii? Earning yield for both the companies.

What are the reasons for the differences in the market prices of the two companies share?

(10)
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3 100 | 40 270 100 3.6 25.0

4 8.0 3.2 230 8.0 3.6 2§.0
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What is working capital? How do you distinguish between Gross working capital and Net
working capital? Explain the factors that determine the working capital needs of a firm.

(18)
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5. (a) A company is selling a debenture which will provide an annual interest payment of Rs
1000 for an indefinite number of years. Should debenture be purchased if it is being
quoted in the market for Rs 8,500 and the rate of interest is 12%? Will your answer

" change if the rate of interest is 11%? - (8)

(b) A firm had paid a dividend at Rs 2 per share last year. The required rate of return of
the equity investor is 15.5%. Find out the present market price of the share assuming

that the growth rate of the dividend of the company is
(1) 5% per annum,
(ii) 8% per annum

(iii) 3% per annum (10)
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(i) 5% wla =,
(i) 8% wfa a4

(i) 3% wuia af

(a) Calculate the portfolio return using the following data, assuming 70% investment on the

existing portfolio and 30% on the new portfolio.

Probability of occurrence of returns Existing Portfolio New Portfolio
0.30 10% 8%

0.30 7% 12%

0.40 13% 7%

(8)

(b) The risk-free rate of return is 9%. Expected rate of return on the market portfolio is

15%. Find out the expected returns of the following securities with their given beta

coefficient using CAPM. Also depict the security market line.

P.T.0.
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Security

Beta

0.5 1.0

1.5

(10)
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